ANy T

BAT-2[R-SPEC m

202431 18

The A Brand

IEXARATESEE ALV YR

= ThreadRacer
it 1= HE
numu:

B 89 75 I T B R Hl iRk (C !

TREUIL

ek

1+ 168
El
R-SPEC

HIRE7

N&RAL%E
FEDTIAKT
ANUABIEFEINT

INCONMTHBXLIFRIC!

BEBHEFRENRTTE
UERENZL
HREQEDMLLIZHERIIET
AP

B RU)LZvF(DRT) EDTUIEEE HLEH
9 0.?5 0‘.1 0.‘15 (mm)
DRT 1%E ’E"'"
DRT 72J%H ; I\
2R 7 = IO < FHEH R IF
AT-2R-SPEC 17 7~V§ .‘“\ﬁ\“ (TREESEO4.6M L)
AT-2 R-SPEC 1005%E ﬁ“a\g_ | DLC-IGUSST |\
%?é;fgdiimf??mm?n?ich?Jl]Ié‘x{.%ﬁ BELEE REM
A2 o vemaaomimim it oo R B S B
A= ammiey PAT.in Japan
" - / T E Q&N
IT770—ICTIIOK! s

MEHCEIBRDOIMITIE
HDEZEVT -5

EARICK B RFIEELTLETH
t1b < FHI5HE & DLCO— F DA INEIFIRIC LD
Trhs2Ea8L7 JO—CONMNIHaFEcT!

ALY =Y—-S5]

% 2L wR(Thread) =L

W ek E DN TSR LEE B GEIEIERE £ 0)

? ! i it 1

? ()

TER
(2I78)

AT-2
R-SPEC

M6X1 RUIZTRET10mm ADC12%%
#FRUI 1 Ve=126m/min,f=0.6mm/rev
Zwv7 Vc=94m/min (ATC1[E)

AT-2 R-SPEC : Vc=220m/min,f=1.2mm/rev

n\\:\:\\%" /oﬁ R A

ARk

YOV AYE
* ENOEDEHBERETTEATE,

EXIfGE

ANUAIVRBIF
+RUHIbEEMT

1
AY

LWL
FyIIb—L

mAWU(IR2L)

BESHICKDREERIE




| RAAAHER

e ——
-
i 3

TouwA T
s

=3 [ I shan |
% CARBIDE DLC-IGUSS hé

& |

SHTUEL

without Coolant Hole

]

| |DCON

R

LF

SHSE
with Coolant Hole

DCON

S

kX
ﬁ%n UiIT 2D9‘fj B :mm  Unit:mm
¥—JUNo. I BAEHE =R BRARUICRE BFR | Yy B N | EE TR
EDP No. Thread Size DC LF Maximum threading length LU DCON Flutes Qil Hole Stock (Yen)
8331220 M 3X0.5 24 50 6 7.75 6 2 — O 11,500
8331221 M 4X0.7 3.1 50 8 10.45 6 2 = O 11,700
8331222 M 5X0.8 4 50 10 12.8 6 2 — O 12,100
8331223 M 6 X1 4.6 50 12 15.5 6 2 Yes D|O 12,400
8331224 M 8X1.25 6.2 70 16 20.38 8 2 Yes O 19,200
8331225 M10X1.5 7.5 80 20 25.25 10 2 Yes O 20,100
8331226 M12X1.75 9 80 24 30.13 10 2 Yes O 21,400
EADIcHEMTEEE TTERATEL, O=#@EEER (EEZCHEETEL)
ﬁ;‘l]bb"ﬁf 2.5D9’fj B :mm Unit:mm
¥Y—JUNo. NI BAENER =R BARUIICRE BFR | YvVI8& B MUY | EE RS
EDP No. Thread Size DC LF Maximum threading length LU DCON Flutes Qil Hole Stock (Yen)
8331227 M 3X0.5 24 50 7.5 9.25 6 2 — O 11,500
8331228 M 4X0.7 3.1 50 10 12.45 6 2 = O 11,700
8331229 M 5X0.8 4 50 12.5 153 6 2 — O 12,100
8331230 M 6 X1 4.6 50 15 18.5 6 2 Yes D|O 12,400
8331231 M 8X1.25 6.2 70 20 24.38 8 2 Yes O 19,200
8331232 M10X1.5 7.5 80 25 30.25 10 2 Yes O 20,100
8331233 M12X1.75 9 80 30 36.13 10 2 Yes O 21,400
EXDIcHEMTEER CTEATEL, O=#R#EER (EEZCHEETEL)
EMNRETOISLIERY T~ L
I t)] ‘ﬁuaﬁ:giﬁﬁ Rlll ' ThreadProi ZTHIAT !
< eacPro ZTNSTIERN &
N PILEZO LAGEHEY FPIWEZULAGEREM - X IRV U LEE HEE
AC4C - ADC A5052 - A7075 - AZ91 - AZ80A C1100
HELRVDHIHA KT LA KB ML EHA] KB LD EHA
PIHIERE (m/min) 100 ~ 300 100 ~ 300 100 ~ 300
2D517 25D9147 2DF147 2.5D917 2D517 2.5DF147
ey smpe | 10200 s [ THHDD| 54 R LB = Lo ] e VP LD = [o] )] [N 135D D s [ IBE1I0)
M 3X0.5 | 24(13,263/ 1,592 | 03 |13,263| 1,592 | 0.3 |13,263| 159 | 0.03 |13,263| 159 | 0.03 [13,263| 159 | 0.03 |13,263| 159 | 0.03
M 4X0.7 | 3.1(14,375/ 1,941 | 03 14375/ 1,941 | 03 |14,375| 194 | 0.03 |14,375| 194 | 0.03 (14,375 194 | 0.03 |14,375| 194 | 0.03
M 5%X0.8 | 4 [15915/1,910| 0.3 (12,7321 1,528 | 0.3 |[15915| 255 | 0.04 [12,732| 204 | 0.04 [15915| 255 | 0.04 |12,732| 204 | 0.04
M 6 X1 4.6 |15224| 2,842 | 04 [11,072] 2,067 | 04 |15224| 284 | 0.04 (11,072] 207 | 0.04 |15,224| 284 | 0.04 |11,072| 207 | 0.04
M 8X1.25| 6.2 (12,322 2,218 | 04 | 8214|1479 | 04 |12,322| 277 | 0.05 | 8214 185 | 0.05 (12,322 277 | 0.05 | 8,214| 185 | 0.05
M10X1.5 | 7.5(10,186| 2,037 | 04 | 6,791| 1,358 | 0.4 |10,186| 255 | 0.05 | 6,791 170 | 0.05 (10,186 255 | 0.05 | 6,791 170 | 0.05
M12X1.75| 9 8,488| 1,698 | 04 | 5659|1,132| 0.4 | 8488| 212 | 0.05 | 5659| 141 | 0.05 | 8488| 212 | 0.05 | 5659| 141 | 0.05

EADhEHFEOE TTERATEL.

+ AT-2 R-SPECIZ8RUINTERATY,
- ThreadProDJ/\RAF A T[T VT ILED | ZEIRTEW,

- ThreadPro THIMRTRENDEHIRMIFSEETT, SEAVCELICHED. UIHISRHRERZD LT
D=0, Fvv I OBIEEDORARRICKD. UIHIRGZRBE TV,

T EDNERREERDKSICEDRT,
MIERCBVTHBSINDIEZTH

- TEDRNBEEZR/IRICIZATSERATEL, CHEERTEL,
RIXVILGEVHEICBVTEIELRF ZERT 2R, THPRRIA—HDO#ETZ2HDZETHERATEL,
T IO TFONE - EBISEE TSV BANDBNNBOHET,
OSG ({IE[E

A-LASi—H=4l

T442-8543

BZHRE)IMAE T FE=TBH22& TEL(0533)82-1111

E-mail : cs-info@osg.co.jp  Web: https://www.osg.co.jp/

RAFEZRE

T 140-0002

RREmIIIXRm)14-12-6

@Y —YA4 RFEvFILYT— 198 TEL(03)5715-2966

FEEAERS
T550-0013

KBRAFABR T 7 X #TE] 2-18-2
A—IRI—tV5—EI 8F

TEL(06)6538-3880

TIUT—T 3 VEER
T451-0051

BIZrium B2 4/

BHNRLEEMEXAIRHES-1-17

TEL(052)589-8320

Copyright ©2021 OSG Corporation. All rights reserved.
+ RRICOVTIK, BICHAR - IRZT>TCHEDEXIDT, FELLANYOIEELRE

BEIHHEEHHDET,

+ FEBBAS OGS - BERERUFT,

F-326.409.AB.BBg (DN)

2411


https://www.osg.co.jp/media_dl/thread_pro/index.html?utm_source=qrcode&utm_medium=f_326&utm_campaign=thread_pro

